

EXTRACTION PROBLEM OF THE PELL SEQUENCE

Wai-Fong Chuan

Dept. of Math., Chung-yuan Christian University, Chung Li, Taiwan 32023, R.O.C.

Fei Yu

Yuanpei Technical College, 306 Yuanpei St., Hsinchu City, Taiwan, R.O.C.

(Submitted November 1998-Final Revision May 1999)

1. INTRODUCTION

Let A be an alphabet and let A^* be the free monoid over A . Let $A^+ = A^* \setminus \{\varepsilon\}$, where ε denotes the empty word. For $w \in A^*$, let $|w|$ denote the length of w . Let $|\varepsilon|=0$. A word x is said to be a *prefix* of a finite or infinite word w over A if $x \in A^+$ and there is a word y such that $w = xy$. The finite or infinite word y is called a *suffix* of w . Let R be the *reversion operator* on A^+ defined by $R(c_1c_2 \dots c_n) = c_n \dots c_2c_1$, where $c_i \in A$, $1 \leq i \leq n$, $n \geq 1$.

Let α be an irrational number between 0 and 1. The *characteristic sequence* (or word) of α is an infinite binary sequence f whose n^{th} term is $[(n+1)\alpha] - [n\alpha]$, $n \geq 1$. It will be regarded as an infinite word over the alphabet $\{0, 1\}$. Let s_m denote the prefix of f of length m and let f_m denote the suffix of f with $f = s_m f_m$, $m > 0$. Let $f_0 = f$. The characteristic sequence of $(\sqrt{5}-1)/2$ (resp., $\sqrt{2}-1$) is called the *golden sequence* (resp., *Pell sequence*).

Hofstadter [9] introduced the concept of aligning two words u and v over A (see also [3], [8]). The idea is to try to match each term (letter) in v with a term in u . After a term in v has been matched with a term in u , one looks for the earliest match to the next term in v . Those terms in u that are skipped over form the extracted word $\langle u, v \rangle$. The following example illustrates this concept.

$$\begin{array}{r} u: 0 \ 1 \ 1 \ 1 \ 0 \ 1 \ 0 \ 0 \ 1 \ 1 \ 0 \\ v: \ 1 \ 1 \ 0 \ 0 \ 1 \ 0 \\ \langle u, v \rangle: 0 \quad 1 \ 1 \ 0 \ 1 \end{array}$$

Originally, Hofstadter considered the problem of aligning f_m with f , where f is the characteristic sequence of an irrational number α . He conjectured that $\langle f_m, f \rangle = f_{m-2}$, $m \geq 2$. For $\alpha = (\sqrt{5}-1)/2$, Hendel and Monteferrante [8] solved this problem completely. They determined the set M of all integers $m \geq 2$ for which $\langle f_m, f \rangle = f_{m-2}$ and they proved that, if $m \geq 2$ and $m \notin M$, then $\langle f_m, f \rangle = 0f_{m-1}$. For example, $\langle f_5, f \rangle = f_3$ and $\langle f_4, f \rangle = 0f_3 \neq f_2$. The extraction problems $\langle f, f_m \rangle$ and $\langle f_m, f_n \rangle$ were first considered by Chuan [3] who proved that $\langle f, f_m \rangle = R(s_m)$, $m \geq 1$, and that $\langle f_m, f_n \rangle$ differs either from $\langle f_{m-n}, f \rangle$ (if $m > n$) or from $\langle f, f_{n-m} \rangle$ (if $m < n$) by at most the first letter. Using a concatenation lemma (Lemma 3 of [8]) and some representation theorems (Section IV of [7]), Hendel [7] also formulated and proved an extraction conjecture for $\langle f_m, f \rangle$ and $\langle f, f_m \rangle$ when $\alpha = \sqrt{2}-1$, for an infinite set of m .

In this paper, we shall use a special case of a powerful representation theorem that Chuan discovered recently [5] to prove that the following conjecture is true when $\alpha = \sqrt{2}-1$.

Conjecture: Let α be an irrational number between 0 and 1 and let f be its characteristic sequence. Then $\langle f, f_m \rangle = R(s_m)$, $m \geq 1$.

It follows from the representation lemmas in Section 2 that this conjecture has an equivalent formulation described below. Let $[0, a_1 + 1, a_2, \dots]$ be the continued fraction expansion of α . Define the sequence $\{u_n\}$ of words over the alphabet $\{0, 1\}$ by

$$u_0 = 0, u_1 = 10^{a_1}, u_n = u_{n-2}u_{n-1}^{a_n} \quad (n \geq 2).$$

Equivalent Formulation (Subtraction Rule of Exponents): If $n \geq 1, r_1, r_2, \dots$ is an infinite sequence of integers with $0 \leq r_i \leq a_i \ (i \geq 1)$ and $r_i = 0 \ (i > n)$, then

$$\langle u_0 u_1^2 u_2^2 \dots, u_0^{1-r_1} u_1^{2-r_2} u_2^{2-r_3} \dots \rangle = u_0^{r_1} u_1^{r_2} \dots u_{n-1}^{r_n}.$$

2. PRELIMINARIES

Let $u = a_1 a_2 \dots a_n, v = b_1 b_2 \dots b_m$, and $e = c_1 c_2 \dots c_p$, where $a_i, b_j, c_k \in A, n, m > 0, p \geq 0$, and $n = m + p$. As in [8], we say that u aligns with v with extraction e if there are integers j_1, j_2, \dots, j_p such that

$$u = (b_1 \dots b_{j_1}) c_1 (b_{j_1+1} \dots b_{j_2}) c_2 \dots c_p (b_{j_p+1} \dots b_m),$$

where $0 \leq j_1 \leq j_2 \leq \dots \leq j_p < m$ and $c_i \neq b_{j_i+1}$ for $1 \leq i \leq p$. Here $b_1 \dots b_k = \varepsilon$ if $k < i$. This relationship is called an *alignment* and is denoted by $\langle u, v \rangle = e$. Clearly, we have $\langle u, u \rangle = \varepsilon$.

Let u, v , and e be (possibly infinite) words over A . If $\{u_n\}, \{v_n\}$, and $\{e_n\}$ are sequences of finite words such that $\langle u_n, v_n \rangle = e_n, \lim_{n \rightarrow \infty} u_n = u, \lim_{n \rightarrow \infty} v_n = v$, and $\lim_{n \rightarrow \infty} e_n = e$, we say that u aligns with v with extraction e . This alignment is also denoted by $\langle u, v \rangle = e$.

The goal of this paper is to prove the following theorem.

Theorem 2.1: (a) Let $\alpha = \sqrt{2} - 1$ and let f be the characteristic sequence of α . Then $\langle f, f_m \rangle = R(s_m)$ for all $m \geq 1$.

(b) (Subtraction rule of exponents) If $n \geq 1, r_1, r_2, \dots$ is an infinite sequence of integers with $0 \leq r_1 \leq 1, 0 \leq r_i \leq 2 \ (2 \leq i \leq n)$, and $r_i = 0 \ (i > n)$, then

$$\langle u_0 u_1^2 u_2^2 \dots, u_0^{1-r_1} u_1^{2-r_2} u_2^{2-r_3} \dots \rangle = u_0^{r_1} u_1^{r_2} \dots u_{n-1}^{r_n}.$$

To prove this theorem, we need the following concatenation lemma and three basic representation lemmas (Lemmas 2.3-2.5).

Lemma 2.2 (see [8]): If $p > 1, u_n, v_n, e_n \in A^+$ and $\langle u_n, v_n \rangle = e_n, 1 \leq n \leq p$, then

$$\left\langle \prod_{n=1}^p u_n, \prod_{n=1}^p v_n \right\rangle = \prod_{n=1}^p e_n.$$

Here $\prod_{n=1}^p x_n$ denotes $x_1 x_2 \dots x_p$, where $x_1, x_2, \dots, x_p \in A^+$. The result also holds if u_p and v_p are infinite words.

Throughout the rest of this section, let α be an irrational number between 0 and 1 with continued fraction $\alpha = [0, a_1 + 1, a_2, \dots]$ and let f be its characteristic sequence. Let

$$\begin{aligned} q_0 &= 1, & q_1 &= a_1 + 1, & q_n &= a_n q_{n-1} + q_{n-2}, \\ x_0 &= 0, & x_1 &= 0^{a_1} 1, & x_n &= x_{n-1}^{a_n} x_{n-2}, \\ u_0 &= 0, & u_1 &= 10^{a_1}, & u_n &= u_{n-2} u_{n-1}^{a_n}, \quad n \geq 2. \end{aligned}$$

Note that $\{q_n\}$ is a sequence of positive integers and $\{x_n\}$ and $\{u_n\}$ are sequences of α -words over the alphabet $\{0, 1\}$ (see [4] for a definition of α -word) and $u_n = R(x_n)$, $n \geq 0$.

Lemma 2.3 (see [6]): Every positive integer m can be expressed uniquely as $m = \sum_{i=1}^n r_i q_{i-1}$, where $0 \leq r_i \leq \alpha_i$ ($1 \leq i \leq n$), $r_n \neq 0$, and $r_{i-1} = 0$ whenever $r_i = \alpha_i$ ($2 \leq i \leq n$).

The expression of m in Lemma 2.3 is called the *generalized Zeckendorf representation* of m in the q_i 's. When $\alpha = (\sqrt{5} - 1)/2 = [0, 1, 1, \dots]$, it is the *Zeckendorf representation* and $q_i = F_{i+1}$. When $\alpha = \sqrt{2} - 1 = [0, 2, 2, \dots]$, it is also called the *Pellian representation* of m in the Pell numbers [2, 10, 11]. If $m = \sum_{i=1}^n r_i q_{i-1}$, where $0 \leq r_i \leq \alpha_i$ ($1 \leq i \leq n$), the sequence $r_1 r_2 \dots r_n$ is called a *code* of m with respect to α (or the q_i 's).

A representation of prefixes s_m of f in terms of the x_i 's is given in the following lemma.

Lemma 2.4 (see [5]): Let $m = \sum_{i=1}^n r_i q_{i-1}$, where $0 \leq r_i \leq \alpha_i$ ($1 \leq i \leq n$). Then

$$s_m = x_{n-1}^{r_n} \dots x_1^{r_2} x_0^{r_1} = R(u_0^{r_1} u_1^{r_2} \dots u_{n-1}^{r_n}).$$

We remark that a special case of Lemma 2.4 in which the representation of m is the generalized Zeckendorf representation has been obtained by Brown [1].

In the following lemma, f and its suffixes f_m are expressed in terms of the u_n 's.

Lemma 2.5 (see [5]): Let $m = \sum_{i=1}^{\infty} r_i q_{i-1}$, where $0 \leq r_i \leq \alpha_i$ ($i \geq 1$). Then

$$\begin{aligned} f &= u_0^{\alpha_1} u_1^{\alpha_2} u_2^{\alpha_3} \dots, \\ f_m &= u_0^{\alpha_1 - r_1} u_1^{\alpha_2 - r_2} u_2^{\alpha_3 - r_3} \dots \end{aligned}$$

Note that when $\alpha = (\sqrt{5} - 1)/2$, the representations of f and f_m given here reduce to the ones used in [3] and [8].

3. PROOF OF THEOREM 2.1

In this section we restrict our attention to the irrational number $\alpha = \sqrt{2} - 1 = [0, 2, 2, \dots]$. The sequences $\{q_n\}$, $\{x_n\}$, and $\{u_n\}$ defined in Section 2 now become

$$\begin{aligned} q_0 &= 1, & q_1 &= 2, & q_n &= 2q_{n-1} + q_{n-2}, \\ x_0 &= 0, & x_1 &= 01, & x_n &= x_{n-1}^2 x_{n-2}, \\ u_0 &= 0, & u_1 &= 10, & u_n &= u_{n-2} u_{n-1}^2, \quad n \geq 2. \end{aligned} \tag{1}$$

We first prove some alignments that involve the u_n 's.

Lemma 3.1:

- (a) $\langle u, u \rangle = \varepsilon$ for all finite or infinite word u over $\{0, 1\}$.
- (b) $\langle u_{n-1} u_n, u_n \rangle = u_{n-1}$ ($n \geq 1$).
- (c) $\langle u_n^2, u_{n-1} u_n \rangle = u_{n-2} u_{n-1}$ ($n \geq 2$).
- (d) $\langle u_{n-1}^2 u_n^2, u_n^2 \rangle = u_{n-1}^2$ ($n \geq 2$).
- (e) $\langle u_0 u_1^2 \dots u_n^2, u_1 \dots u_{n-1} u_n^2 \rangle = u_0 u_1 \dots u_{n-1}$ ($n \geq 1$).
- (f) $\langle u_n^2 u_{n+1}^2 \dots u_{n+p}^2, u_n \dots u_{n+p-1} u_{n+p}^2 \rangle = u_n u_{n+1} \dots u_{n+p-1}$ ($n \geq 1, p \geq 1$).
- (g) $\langle u_n^2 u_{n+1}^2 \dots u_{n+p}^2, u_{n+1} \dots u_{n+p-1} u_{n+p}^2 \rangle = u_n^2 u_{n+1} \dots u_{n+p-1}$ ($n \geq 1, p \geq 2$).

Proof:

(a) By definition.

(b)-(d) Clearly, the results hold for $n \leq 3$. Let $k \geq 3$. Suppose that (b)-(d) hold for all $n \leq k$.

Then:

$$\begin{aligned}
 \text{(i)} \quad & \langle u_k u_{k+1}, u_{k+1} \rangle \\
 &= \langle u_{k-2} u_{k-1}, u_{k-1} \rangle \langle u_{k-1} u_{k-1} u_k u_k, u_k u_k \rangle \quad [\text{by (1) and Lemma 2.2}] \\
 &= u_{k-2} u_{k-1} u_{k-1} \quad [\text{by the inductive hypothesis of (b) and (d)}] \\
 &= u_k. \\
 \text{(ii)} \quad & \langle u_{k+1} u_{k+1}, u_k u_{k+1} \rangle \\
 &= \langle u_{k-1} u_k, u_k \rangle \langle u_k u_{k+1}, u_{k+1} \rangle \quad [\text{by (1) and Lemma 2.2}] \\
 &= u_{k-1} u_k \quad [\text{by (i) and the inductive hypothesis of (b)}]. \\
 \text{(iii)} \quad & \langle u_k^2 u_{k+1}^2, u_{k+1}^2 \rangle \\
 &= \langle u_{k-2} u_{k-1}, u_{k-1} \rangle \langle u_{k-1} u_k, u_k \rangle \langle u_{k+1}^2, u_k u_{k+1} \rangle \quad [\text{by (1) and Lemma 2.2}] \\
 &= u_{k-2} u_{k-1} u_{k-1} u_k \quad [\text{by the inductive hypothesis of (b) and (ii)}] \\
 &= u_k^2.
 \end{aligned}$$

Therefore, (b)-(d) hold.

$$\begin{aligned}
 \text{(e)} \quad & \langle u_0 u_1^2 \dots u_n^2, u_1 u_2 \dots u_{n-1} u_n^2 \rangle \\
 &= \langle u_0 u_1, u_1 \rangle \langle u_1 u_2, u_2 \rangle \dots \langle u_{n-1} u_n, u_n \rangle \langle u_n, u_n \rangle \quad [\text{by (1) and Lemma 2.2}] \\
 &= u_0 u_1 \dots u_{n-1} \quad [\text{by (b) and (a)}]. \\
 \text{(f)} \quad & \langle u_n^2 u_{n+1}^2 \dots u_{n+p}^2, u_n u_{n+1} \dots u_{n+p-1} u_{n+p}^2 \rangle \\
 &= \langle u_n, u_n \rangle \langle u_n u_{n+1}, u_{n+1} \rangle \langle u_{n+1} u_{n+2}, u_{n+2} \rangle \\
 &\quad \dots \langle u_{n+p-1} u_{n+p}, u_{n+p} \rangle \langle u_{n+p}, u_{n+p} \rangle \quad [\text{by (1) and Lemma 2.2}] \\
 &= u_n u_{n+1} \dots u_{n+p-1} \quad [\text{by (a) and (b)}]. \\
 \text{(g)} \quad & \langle u_n^2 u_{n+1}^2 \dots u_{n+p}^2, u_{n+1} \dots u_{n+p-1} u_{n+p}^2 \rangle \\
 &= \langle u_n^2, u_{n-1} u_n \rangle \left(\prod_{i=n}^{n+p-2} (\langle u_{i-1} u_i, u_i \rangle \langle u_i u_{i+1}, u_i u_{i+1} \rangle) \right) \langle u_{n+p}^2, u_{n+p-1} u_{n+p} \rangle \quad [\text{by (1) and Lemma 2.2}] \\
 &= x \left(\prod_{i=n}^{n+p-2} u_{i-1} \right) u_{n+p-2} u_{n+p-1} \quad [\text{by (a), (b), and (c)}] \\
 &= u_n^2 u_{n+1} \dots u_{n+p-1}.
 \end{aligned}$$

Here

$$x = \begin{cases} 1 & \text{if } n = 1, \\ u_{n-2} u_{n-1} & \text{if } n > 1. \end{cases}$$

Lemma 3.2: Let $n \geq 1$. Let $0 \leq r_1 \leq 1$, $0 \leq r_i \leq 2$ ($2 \leq i \leq n$), $r_n \neq 0$, and $r_{i-1} = 0$ whenever $r_i = 2$ ($2 \leq i \leq n$). Then

$$\langle u_0 u_1^2 \dots u_n^2, u_0^{1-r_1} u_1^{2-r_2} \dots u_{n-1}^{2-r_n} u_n^2 \rangle = u_0^{r_1} u_1^{r_2} \dots u_{n-1}^{r_n}.$$

Proof: Write $r_1 r_2 \dots r_n = 0^{s_1} C_1 0^{s_2} C_2 \dots 0^{s_m} C_m$, where $s_1 \geq 0$, $s_j \geq 1$ ($2 \leq j \leq m$), each C_j is of the form 1^{t_j} , 2, or 21^{t_j} ($t_j \geq 1$) and $C_1 = 1^{t_1}$ if $s_1 = 0$. We proceed by induction on m .

Let $m = 1$. For simplicity, write s for s_1 and t for t_1 . There are four cases according to the values of s and t .

- (i) $r_1 r_2 \dots r_{s+t} = 0^s 1^t$ ($s > 0, t > 0$):

$$\begin{aligned} & \langle u_0 u_1^2 \dots u_{s+t}^2, u_0 u_1^2 \dots u_{s-1}^2 u_s \dots u_{s+t-1} u_{s+t}^2 \rangle \\ &= \langle u_0 u_1^2 \dots u_{s-1}^2, u_0 u_1^2 \dots u_{s-1}^2 \rangle \langle u_s^2 \dots u_{s+t}^2, u_s \dots u_{s+t-1} u_{s+t}^2 \rangle \text{ [by Lemma 2.2]} \\ &= u_s u_{s+1} \dots u_{s+t-1} \text{ [by (a) and (f) of Lemma 3.1].} \end{aligned}$$
- (ii) $r_1 r_2 \dots r_{s+1} = 0^s 2$ ($s > 0$):

$$\begin{aligned} & \langle u_0 u_1^2 \dots u_{s+1}^2, u_0 u_1^2 \dots u_s^2 u_{s+1}^2 \rangle \\ &= \langle u_0 u_1^2 \dots u_{s-1}^2, u_0 u_1^2 \dots u_{s-1}^2 \rangle \langle u_s^2 u_{s+1}^2, u_{s+1}^2 \rangle \text{ [by Lemma 2.2]} \\ &= u_s^2 \text{ [by (a) and (d) of Lemma 3.1].} \end{aligned}$$
- (iii) $r_1 r_2 \dots r_{s+t+1} = 0^s 21^t$ ($s > 0, t > 0$):

$$\begin{aligned} & \langle u_0 u_1^2 \dots u_{s+t+1}^2, u_0 u_1^2 \dots u_{s-1}^2 u_s \dots u_{s+t} u_{s+t+1}^2 \rangle \\ &= \langle u_0 u_1^2 \dots u_{s-1}^2, u_0 u_1^2 \dots u_{s-1}^2 \rangle \langle u_s^2 \dots u_{s+t+1}^2, u_{s+1} \dots u_{s+t} u_{s+t+1}^2 \rangle \text{ [by Lemma 2.2]} \\ &= u_s^2 u_{s+1} \dots u_{s+t} \text{ [by (a) and (g) of Lemma 3.1].} \end{aligned}$$
- (iv) $r_1 r_2 \dots r_t = 1^t$ ($t > 0$):

$$\begin{aligned} & \langle u_0 u_1^2 \dots u_t^2, u_1 \dots u_{t-1} u_t^2 \rangle \\ &= u_0 u_1 \dots u_{t-1} \text{ [by (e) of Lemma 3.1].} \end{aligned}$$

Thus, the result holds for $m = 1$. Now, suppose that the result holds for $m = k$, that is,

$$r_1 r_2 \dots r_n = 0^{s_1} C_1 0^{s_2} C_2 \dots 0^{s_k} C_k, \text{ and}$$

$$\langle u_0 u_1^2 \dots u_n^2, u_0^{1-r_1} u_1^{2-r_2} \dots u_{n-1}^{2-r_n} u_n^2 \rangle = u_0^{r_1} u_1^{r_2} \dots u_{n-1}^{r_n},$$

where C_1, \dots, C_k satisfy the above-mentioned conditions. Let $s_{k+1} \geq 1$ and let $C_{k+1} = 1^t$, 2, or 21^t for some $t \geq 1$. There are three cases to consider:

- (i) $C_{k+1} = 1^t$: Let $r_{n+1} r_{n+2} \dots r_p = 0^{s_{k+1}} 1^t$, where $p = n + s_{k+1} + t$. Then

$$\begin{aligned} & \langle u_0 u_1^2 \dots u_p^2, u_0^{1-r_1} u_1^{2-r_2} \dots u_{n-1}^{2-r_n} u_n^2 \dots u_{p-t-1} u_{p-t} \dots u_{p-1} u_p^2 \rangle \\ &= \langle u_0 u_1^2 \dots u_n^2, u_0^{1-r_1} u_1^{2-r_2} \dots u_{n-1}^{2-r_n} u_n^2 \rangle \langle u_{n+1}^2 \dots u_{p-t-1}^2, u_{n+1} \dots u_{p-t-1} \rangle \\ & \quad \langle u_{p-t}^2 \dots u_p^2, u_{p-t} \dots u_{p-1} u_p^2 \rangle \text{ [by Lemma 2.2]} \\ &= u_0^{r_1} u_1^{r_2} \dots u_{n-1}^{r_n} \varepsilon u_{p-t} \dots u_{p-1} \text{ [by (a), (f) of Lemma 3.1 and the inductive hypothesis]} \\ &= u_0^{r_1} u_1^{r_2} \dots u_{p-1}^{r_p}. \end{aligned}$$
- (ii) $C_{k+1} = 2$: Let $r_{n+1} r_{n+2} \dots r_p = 0^{s_{k+1}} 2$, where $p = n + s_{k+1} + 1$. Then

$$\begin{aligned} & \langle u_0 u_1^2 \dots u_p^2, u_0^{1-r_1} u_1^{2-r_2} \dots u_{n-1}^{2-r_n} u_n^2 \dots u_{p-2} u_p^2 \rangle \\ &= \langle u_0 u_1^2 \dots u_n^2, u_0^{1-r_1} u_1^{2-r_2} \dots u_{n-1}^{2-r_n} u_n^2 \rangle \langle u_{n+1}^2 \dots u_{p-2}^2, u_{n+1} \dots u_{p-2} \rangle \langle u_{p-1}^2 u_p^2, u_p^2 \rangle \end{aligned}$$

$$\begin{aligned}
 &= u_0^{r_1} u_1^{r_2} \dots u_{n-1}^{r_n} \varepsilon u_{p-1}^2 \text{ [by (a), (d) of Lemma 3.1 and the inductive hypothesis]} \\
 &= u_0^{r_1} u_1^{r_2} \dots u_{p-1}^{r_p}.
 \end{aligned}$$

(iii) $C_{k+1} = 21^t$: Let $r_{n+1} r_{n+2} \dots r_p = 0^{s_{k+1}} 21^t$, where $p = n + s_{k+1} + t + 1$. Then

$$\begin{aligned}
 &\langle u_0 u_1^2 \dots u_p^2, u_0^{1-r_1} u_1^{2-r_2} \dots u_{n-1}^{2-r_n} u_n^2 \dots u_{p-t-2}^2 u_{p-t-1} \dots u_{p-1}^2 \rangle \\
 &= \langle u_0 u_1^2 \dots u_n^2, u_0^{1-r_1} u_1^{2-r_2} \dots u_{n-1}^{2-r_n} u_n^2 \rangle \langle u_{n+1}^2 \dots u_{p-t-2}^2, u_{n+1}^2 \dots u_{p-t-2}^2 \rangle \\
 &\quad \langle u_{p-t-1}^2 \dots u_p^2, u_{p-t} \dots u_{p-1} u_p^2 \rangle \text{ [by Lemma 2.2]} \\
 &= u_0^{r_1} u_1^{r_2} \dots u_{n-1}^{r_n} \varepsilon u_{p-t-1}^2 u_{p-t} \dots u_{p-1} \text{ [by (a), (g) of Lemma 3.1 and the inductive hypothesis]} \\
 &= u_0^{r_1} u_1^{r_2} \dots u_{p-1}^{r_p}.
 \end{aligned}$$

This completes the proof.

Proof of Theorem 2.1: (a) Let $m = \sum_{i=1}^n r_i q_{i-1}$ be the generalized Zeckendorf representation of m in the q_i 's. Define $r_k = 0$ ($k > n$). Then

$$\begin{aligned}
 &\langle f, f_m \rangle \\
 &= \langle u_0 u_1^2 u_2^2 \dots, u_0^{1-r_1} u_1^{2-r_2} u_2^{2-r_3} \dots \rangle \text{ [by Lemma 2.5]} \\
 &= \langle u_0 u_1^2 \dots u_n^2, u_0^{1-r_1} u_1^{2-r_2} \dots u_{n-1}^{2-r_n} u_n^2 \rangle \left\langle \prod_{k=n+1}^{\infty} u_k^2, \prod_{k=n+1}^{\infty} u_k^2 \right\rangle \text{ [by Lemma 2.2]} \\
 &= u_0^{r_1} u_1^{r_2} \dots u_{n-1}^{r_n} \varepsilon \text{ [by Lemma 3.2 and (a) of Lemma 3.1]} \\
 &= R(x_{n-1}^{r_{n-1}} \dots x_1^{r_2} x_0^{r_1}) \text{ [} u_i = R(x_i), i \geq 0 \text{]} \\
 &= R(s_m) \text{ [by Lemma 2.4].}
 \end{aligned}$$

(b) Let $m = \sum_{i=1}^n r_i q_{i-1}$. Then, by Lemmas 2.4-2.5 and the fact that $u_i = R(x_i)$ for all i , we have that

$$\langle u_0 u_1^2 u_2^2 \dots, u_0^{1-r_1} u_1^{2-r_2} u_2^{2-r_3} \dots \rangle = u_0^{r_1} u_1^{r_2} \dots u_{n-1}^{r_n}$$

is another way of writing $\langle f, f_m \rangle = R(s_m)$.

Example: If m is a positive integer having a code 0211020111 with respect to $\sqrt{2}-1$, then $\langle f, f_m \rangle = u_1^2 u_2 u_3 u_5^2 u_7 u_8 u_9$, in view of part (b) of Theorem 2.1. Thus, the extracted word $\langle f, f_m \rangle$ can be found by computing u_1, u_2, \dots, u_9 . There is no need to compute m, f , and f_m .

ACKNOWLEDGMENT

The first author gratefully acknowledges that this research was supported in part by Grant NSC-87-2115-M033-004, the National Science Council, Republic of China.

REFERENCES

1. T. C. Brown. "Descriptions of the Characteristic Sequence of an Irrational." *Canad. Math. Bull.* **36** (1993):15-21.
2. L. Carlitz, R. Scoville, & V. E. Hoggatt, Jr. "Pellian Representations." *The Fibonacci Quarterly* **10.5** (1972):449-88.

3. W. Chuan. "Extraction Property of the Golden Sequence." *The Fibonacci Quarterly* **33.2** (1995):113-22.
4. W. Chuan. " α -Words and Factors of Characteristic Sequences." *Discrete Math.* **177** (1997): 33-50.
5. W. Chuan. "A Representation Theorem of the Suffixes of Characteristic Sequences." *Discrete Applied Math.* **85** (1998):47-57.
6. A. S. Fraenkel. "Systems of Numeration." *Amer. Math. Monthly* **92** (1985):105-14.
7. R. J. Hendel. "Hofstadter's Conjecture for $\alpha = \sqrt{2} - 1$." In *Applications of Fibonacci Numbers* **6**:173-99. Ed. G. E. Bergum et al. Dordrecht: Kluwer, 1996.
8. R. J. Hendel & S. A. Monteferrante. "Hofstadter's Extraction Conjecture." *The Fibonacci Quarterly* **32.2** (1994):98-107.
9. D. R. Hofstadter. "Eta-Lore." First presented at the Stanford Math. Club, Stanford, California, 1963.
10. V. E. Hoggatt, Jr. "Generalized Zeckendorf Theorem." *The Fibonacci Quarterly* **10.1** (1972):89-93.
11. T. J. Keller. "Generalizations of Zeckendorf's Theorem." *The Fibonacci Quarterly* **10.1** (1972):95-102, 111.

AMS Classification Numbers: 11B83, 68R15



NEW PROBLEM WEB SITE

Readers of *The Fibonacci Quarterly* will be pleased to know that many of its problems can now be searched electronically (at no charge) on the World Wide Web at

<http://problems.math.umr.edu>

Over 20,000 problems from 38 journals and 21 contests are referenced by the site, which was developed by Stanley Rabinowitz's MathPro Press. Ample hosting space for the site was generously provided by the Department of Mathematics and Statistics at the University of Missouri-Rolla, through Leon M. Hall, Chair.

Problem statements are included in most cases, along with proposers, solvers (whose solutions were published), and other relevant bibliographic information. Difficulty and subject matter vary widely; almost any mathematical topic can be found.

The site is being operated on a volunteer basis. Anyone who can donate journal issues or their time is encouraged to do so. For further information, write to:

Mr. Mark Bowron
 Director of Operations, MathPro Press
 P.O. Box 713
 Westford, MA 01886 USA
bowron@my-deja.com